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Section A ) : :
Questions 1-to 20 carry 2 marks each. For each question, four options are
given. One of them is the correct answer. Make your choicé (1.2, 3 or 4).
Shade the oval (1, 2, 3 ar 4) on the Optical Answer Sheet.
: - (Total: 40 marks)

&

1. In 7519, the digit __is'ifl the Tiuridredg place.

(1 1 @) 5
3 7 4 9

2. Find the\sum bf 1205 and 6293.

(1) 5088 L (2) 5092 f

(3) 7498 o “4) 7508

3.  Tom bought 1562 stickers. _
He gave away some stickers to his friends and had 259 stickers left.

How many stickers did he give away?

(1) 1032 (2) 1303
@) 1317 | “4) 1821
4, Whatis thq/ciitference between| 5073 and 29987

(1 207{5l | (2) 3171
(3) 3925 (4) 8071




Each hicycle cost $246.-
How much weuld {7 bicycles cost?

O

$246
() $1422 (2) $1682

(3 %1722 (4) $1728

Mr Ali had 8 nephews.
He gave each nephew 10 stickers. .
If each set of & stickers cost $1, how much did he pay for all the

' s‘tickeqs?
$1
(1) $18 () $2
(3) $80 4 95

When'6 children shared a bag of sweets equally, each of them had 32
sweets.

If this bag of sweets was shared by 2 more children, how many sweets
would each child get? ' '

(1) 96 @) 24
(3) 16 ) 4



8.

10.

Mrs Ramu paid $20 to the cashier for her groceries and received 2
-one-dollar notes, 2 flfty—cent coins and 2 tweniy-( gent coins from the

cashier.
How much, did the grocerles cost?

(1)  $23.40 @823

@) $1660 (4)"'_'_:_,'_$:3.40

What s the missing amount in thié box?

$35.60 — = $8.52
(1) $27.08 2 $27.12
(3) $43.18 4) $44.12

Gopal's family en;oyed runnlng . ' S ‘
The i;able betow shows the dlstance each of hls famdy members ran
yesterday. . -

Who ran the longest ‘distanck?.

i

Distance
Father 2999 m
{ Mother 3600 m
Sister 3km 53 m
Gopal 471 m 53 cm
(1)  Father - (2) - Moather
(3) Sister (4 Gopal {




[T o SE—)

11.

12.

13.

14.

Majee is 78 cim tall.
What is Calvin's height if he is 86 cm taller than her?

Calvin  Majee

(1) 164 m (2) 1m 64cm
(3) 16m dcm (4) 1km 64m

" Express 1 I 7 mifin millilitres,

1y 7wl @ 107wl
(3) 1007 ol (4) 1700 ml

There is 750 ml of water in Bryan's water bottle.
There is 340 mi more water in Kumar's water bottle than Bryan's.

Therz is 230 mi less water in Kumar's water bottle than Samy’s.

How much water is there in Samy’s water botile?

(1) 640mi @) 860mi

(3) . 1090mi @ 1320ml

A movie started at 5.10 p.m. and ended at 7.50 p.m.
John arrived late and watched only half of the movie.
What time did he start watching the movie?

(1) 540pm. ) 6.10p.m.

(3) 630pm. . (4): 7.20 p.m,



15,  Which one of the following fractions'is not an equivalent fraction of

A,
12
1
1 —
(h 4
3
. '3 —_—
{3) 5

i

16.

.2 | : 3
) : (2) 5
@ 4 w2

10 20

Lo |




vt bt s

17.  The bar graph below shows the number of pets sold in September at a
pet shop. ’ ‘ '

Pets Sold in September

Birds

5_: . { :
E 20 45 30 35 40

=

m-

-
—y

How many more hf;{msters than rabbits were sold at the pet shop in

September?
(h 10 (2) | 15
3 20 (4) 40



18, * "How rmany right angles are there in the figure?

(1) 4 2) 6
3 8 | 4 10

19.  What is the getimeteX of the figure below?

1ch- _

“—

1cm
(1) 10cm (2)  12em
3) 17 cm (4) 24cm




20.

e of the foliowing-figures has\both] perpendicular and paral

Which on lel
lines in the same figure?
= —
=
A
C

M A

3 C

@)
(4)



SectionB_,_._‘ o ,
Questions 21 o 40 carry:2 marks
space ‘below sacli question and Write"your:
For questions which require Units, give your 3“15.‘4{ rs in the unj

ou Jout wiorking iy jn the

21, (a) Write the following in figures,
2 thousands, 12 hundreds and,4_2g;téns '
Answer : —_—
(b) Write the figure in words.

7943 :

———

22. Arrangefhe numbers in descending order.
| 5763 6573 6537

“Answer : , L ‘
_———-—-—__.__‘———-—-..______,———-_._______

Answer -
—_—

(¢




24,

P
[$)

26.

 What:was the ma: s of the oy car‘?

The total magss-of.a toy.car; a. ip.was 4060 g.

 The toy,carwas 650 g lighter ! e toy tra ._‘.',.,,.,‘_;_eteytram was

300 g Isqhte thar

Answer -

gln:nr hakog 256 i neakss a daV

e wr ——

How many cupcakes d oes the baker bake from Tuesday to Sunday?

Answer :

Mr Tan had 563 penciis.
He packed them equally into 9 boxes.
How many penc:ls were not packed !nto the boxes'?

Answer :

.



27.  Use the digits below to-form the: smal!est 4-d|g|t odd number
You can use each digit once only. =

28.

Six thousand and eléven éents

- E :

Twenty-one dollars and fifty cents|

L




29.

Liming's:mether gave her $10 for her.school outing.. .

The picture below shows the amount of money left in. herwallet after
the outing. ' '

How much did Liming spend?

Answer: $

mowmuch longeris 1 km 21 mthan 680 m ?

Answer : m

12



31.

33.

Sharon had 3 / of orangé juice.
She filled each of the 4 identical cups with 300 mi of orange juice.
How much orange juice had she left?

EXpress your answer in fitres dnd millilitres.

ml

Ané

-

info equal slices.

Peter ate % of the cake and Jane had g of the cake.

Answer :

Y
(o}




AR

s
children in a week.

34 The aranh healow chowe tha numher of hanke read by a araun of
:. ithegraph b nowe e numaber of DoOKe r£ad Dy a groun of

60

No. of children

o~
o
~—

Answer :

(b)  How many books were read by all. these-children?.

Answer:

14



36.

35.

How many angles are there in the figure below?

Answer :

-k
(%)}




37.  Which one of the following figures has the smallestarea?

Answer : Figure

38.  The perimeter of Square A is equal (o the length of Rectangle R,

Answer :

16



39.  The length of 3-straws

A.'-ag_d,gze,5rik;t;on§;§§g_63..,cm.
Each n‘bbon-i.s_wi=cm~=iong_er ihg,g-aiha-;sfraw,
What js the length of each ribbon?

Answer : ¢
_—_-_—_-‘_——-h__h-
40. EAFs Lee gave 3 stickers for every g Marks scored in a spelling test.
Jenny scored 42 marks. - |

How many stickers wold she get? N

Answer :

-
~{




Section C :

Questions 41 to 45 carry 4 marks each. Do these word problems carefully.

Show your working clearly in the space provided below each question. _
: £ Trkmi- ')9 marl‘/e :

LT VRQss L0 e lu\a}'

41.  During Lichee's birthday, her mother grilled 89 sticks of chicken satay
and 129 sticks of mutton satay.

After each person took 4 sticks of satay, there was a remainder of 2
sticks of satay. '

How many people attended Lichee's birthday?

.42, Aisha, Ken and Mark had $440 altodether.

Aisha had $80 more than Ken.

Ken had twice as much maney as Mark.

How much more money did Aisha have than Mark?



43.

When he reached China, he took 3 taxi.to go to the hotel,

(a) How long did he trave! on the:taxi?

(b) How much time did he spend.on the aeroplane and.the taxi
altogether? '

ik
&




44.

A “chool funfair booth sells 3 types of balloons, red, blue and yellow.

There are 357 more red’ baﬂoons than blue ba!loons and 408 mare blue
h:flnnnq rhsm unilnw ha!innn'-‘. ‘

(a) if there are 1158 yellow balloons, how many-red-balloons are
there?

20



45.  Alan, Bala, Cobly, Delong and Eima Wérestandt’ng ina straight line.

Alan was 7 m in-front of Ejma.

~ Cobly was 6 m behind Bala.
Bala was 3 m in front of Alan.
Delong was 8 m in front of Cobly.

(@)  Howfar away was Baia from Delong? _

(b)  Who was thie first in the fine and-who was last in the fine?

© Endof Paper @ i
Please Check Carefully i

Sefters: Mdm Tan Yin Mai
Mr Amos Lum

-k

3%}




Answer

1/ ~\ .,
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'SCHOOL :

41)129 + 89 = 218
218 - 4 =54 R2
54 people attended Lichee's birthday.

42)$440 — $80 = $360

$360 =~ 5 =$72

$72x 2 =%$144

$144 + $80 = $224

$224 — $72 = $152 _
Aisha had $152 more than Mark.

43)a)4h 25min — 35min = 3h 50min
He traveled 3h 50min on the taxi.

b)4h 25min = 3h 50min = 8h 15min
He spend 8h 15min altogether.

44)a)1158 + 408 = 1566
1566 + 357 = 1923
There are 1923 red balloons.
b)1923 — 1158 = 765
There we 765 fewer yellow than red.

Al
u

45)a)Cobly + 8 m =Delong
Cobly + 6m =Bala
8m-—6m = 2m
Delong was 2m far away from Bala

b)Delong is first in the line while
Elma is the last in the line.

NANYANG PRIMARY
SUBJECT : PRIMARY 3 MATHEMATICS
"TERM : SA2
QL[ Q203 | Q41 05| 06(Q71081|Q9 |Q10]|Q111Q12{Q13[Q14}015|Q16]Q17
2 3 21 1 3 1 2 3 1 2 2 3 4 3 1 1 3
Q18 | Q19 | Q20
-3 4 2
'-21)a)3620  b)Seven thousand, nine hundred and forty-three.
22)6573, 6537, 5763 23)3811 24)820 '25)1536 26)5 pencil
27)4063 28)$60.10 /2150c 29)$1.95 30)341m 31)1 L 800 ml
32)34, 3/5, V2, 3/9 33)3/8 34)a)50 h)320 35)
36)6 37)2 38)20cm 39)15cm 40115 ( v )



Answer Key





